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There is a sale at a clothes shop.

e x4 x
A top that normally costs £25 has £10 off. o M0~ g0 . - I
A dress that normally costs £50 has £15 off. 2% =700 4% 55,00 0%

; 4 2
Which item has the larger percentage discount? Find an equivalent fraction with a d "

So the top has the larger percentage discount with 40% off.

ﬁ Ela"“:hs ‘°“j:;e;;’2‘(;5 £300. ® There are 50 chocolates in a ® A fruit farmer grows 50 plums,
Sl g box. 15 chocolates are eaten. 80 pears and 70 apples
i W};ar percedr;(zge has What percentage of What percentage of the
Nolan saved? chocolates are left in the box? fruits are pears?
3 What percentage of the
cost is £907 B A buiche iiakes 400 B Lookat the table below.
sausages and 200 burgers. Item | Original | _Sale
3 A bag has 10 red marbles He sells 240 sausages and [Hac | €50 | £200ff |
and 15 blue marbles. 140 burgers. Bag | £100 | £30off
What percentage of the Which food did he sell the Which item has the bigger
marbles are red? larger percentage of? percentage discount?

Akennel has 5 dogs, @ There is a sale at a music shop. Lok at the table below.
20 cats and 25 rabbits. A guitar that originally cost [Wazch [ Original |
£50 has £7 off. A bongo that
originally cost £20 has £3 off.

“sale |
A | £200 | £50off |
B | £300 | £105 off
C | £400 | £160 off

# What percentage of the
pets are dogs?

Which instrument has the
Vol thw: cons aen wloprel. bigger percentage discount?
9 of the rabbits are adopted.

® Which watch has the biggest
percentage discount?

§ Which bag gives greater
percentage of free potatoes?

B £ caee arn adanead? R B Which warch hac tha emallacr

What percentage:
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2 5stepsof U.0 12 o BE

§ 3 steps of 0.001 Subtract 0.2:
48 46 44

@ 2stepsof 0.1 Add 0.3:
25 28 31

P 1 f 0.01
e e Subtract 0.4:
® 6 steps of 0.001 88 84 80

Count forward: Find the missing numbers:

How many steps of 0.001
are there between: @ 4 steps of 0.2 from 0 13
@ 5 steps of 0.03 from 251

® 0543 and 0.548?
2 0.387 and 03817 8 3 steps of 0.005 from 5.420

9 0847 and 0854 Count back:
067 and 0.68? @ 3 steps of 0.3 from 2

0.1and 0.27 ) 4 steps of 0.02 from 8.49

7and 7.5

Find the missing decimals Work out:

Find the missing numbers 6
@ s8+18

Starting at 3, count back:

@ 5 steps of 0.004 from 05

in these sequences: on this number line:
=
i @ 24-17
e L/ e oE
E T o] @ 34+26

Lt +

Show all X
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Page 81: Comparing Percentages

Sen
Set A . Yes. Thereare 6 n
1. 40% ¢ 4 and 4 blue marbles

2. 30% i i - ) 20000

3. 40% b) 15000

[ ©) £50000
Set B | . Clarissa chooses B,

1. 10% . the bongo
2. 75% . BagB
3. 36%

S

£3 off £20

£132 off £300
£350 off £500
£1350 off £1500

a) 75ml

b) Yes. Eg. There
300 ml in the st
Divide both sid

Pirate 1 chooses cav

Pirate 2 chooses cav

& 12. lain.pdf ~ @ Scanned Documents.pdf — ~ & You can do mental...pdf A @ Comparing Percen...pdf ~ ~ Show all X

1635
ﬂ P Type here to search 1 " 310172002 ~





